%= F % &% |[DUOR-20 #EE B 8 & &5
1. ENfE(E (EnfERERIEE)S1L: &/ 51H: &/, 51LT:N(GEREDT)
BER\ETE 0.4 A 3A 6 A ¥ w B
51L A A A
rRIREEH 0.38~0.42A 2.85~3.15A 5.70~6.30A
BR\EBTE 08 A 8 A 16 A BEEDE5%BLA
51H A A A
SRR E 0.76~0.84A 7.60~8.40A 15.2~16.8A
2. EnfERERE (BE)51L: &/ 51H: &/ 51LT:N(EREDTIZTSEEAIE)
ER\EE 0.05s 1.50s 3.00s HEEE
51LT 200% ~ ms ~ s ~ s BEEDX5%LIA
(=] o d—) .
5THT  200% ~ ms ~ s ~ s B EEE AT
SRR EE 50msELTF 1.43~157s 2.85~3.158 . +50ms
(BE)S1L: &/ 51H: &/, 51LT: N (BB UNZTBREEIE)
BR\EBTE 1 4 7 10
= = y = (&%)
300% s s s o|i2) FRLTB
2L TEREZD
HEEE +12% +12% +12% +12% ¥.§£s§;£%um
HAREEF 0.508~0.646s| 2.04~258s | 356~4.52s | 5.08~6.46s )
— COBEERMRED
S
51LT
HIERHE —_— — — 7%
B SERY-=3- ] | —_— — - 2.98~3.42s
1000% — — — -
S
HIERHE — — — +5%
B SERY-=3- ] | —_— — — 1.54~1.70s
51L,T & BB 8 # %= =K
NI L - n El _ (80
ORI (N) T:( - +]_7) 2 @i R IR (ED T_( 0 ) n
OF RIS (L) = (150 n @R BEFFE (U _ [ 12.7 n
! ( - ) 10 = <A—0.7+0' 25) 10
EAETERRRE (T=10) A FFENE B
AH /5% NI EIl LI UI
300%DIHE 3.20s 10.0s 78.0s 577s T nDAFRB/ERRR
500%DEE 2.45s 3.33s 40.5s 3.20s n B){ERSRAEEE
1000% D5 & 2.03s 081s 19.7s 1.62s A ((ANE) / (RFIEEE)
[H#EIEE]
1. 838 HIEEE: AFEDT110% LA
=] B% TE % N BITEE BITEE ¥|5E
CT2:R[E & 5 A 0.3 VA mV VA
HEER 110 V 5 W mA wW
2. ERBFAGE HIEERAYET. ERICTTFEEERERT S, $|5E
3. mAIEERER  BHEEBMEICTRT EAH HEEDET S, $I5E
4. SUTTRE SUTTFAMITNRRILKRRERERT S, $|5E
5. BEESRGRE ERESESREIE. ARBECTCEBOEVNVERZRERT S, |HE

BEHFERKAS#

TEST-M2083-R.3



12145
sample-2


